# VALENTINE'S DAY

### NEW 9751584

Pick Asst. Wood. Clip. 12" Tall • 2¾"H × 3"W \$28.32 pk/24. \$1.18 ea Qty Ordered \_\_\_\_\_



### NEW 3161-303 #4 Pot Covers

Melamine. Food safe. 4½"H × 5"Opening

\$18.00 set/12. \$1.50 ea Qty Ordered \_\_\_\_\_



NEW TB3162 Tote Bags Polypropylene. 10¼"H × 8¾"W × 4¾"Gusset

\$16.20 pk/12. \$1.35 ea Qty Ordered \_\_\_\_\_



**NEW 3162-00** Mugs Ceramic. 13 oz

\$25.08 set/6. \$4.18 ea Qty Ordered \_\_\_\_\_





Customer #: \_\_\_\_\_ Store #: Phone #:

Contact Name:

### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker - Ext. 2239 • Diana Fairbairn - Ext. 2397 Nicole Waterfill - Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.



**9749835** Pick Asst. Wood. Clip. 12" Tall ● 3"H × 3"W **\$28.32** pk/24. **\$1.18** ea **Qty Ordered** 



**NEW 9751702** Tray Décor

Hand-painted tin. Some assembly required. For décor use only. 14%" H × 12" W × 10" D Top tray: 1%" H × 10" W × 8%" D Bottom tray: 2%" H × 12" W × 10" D

\$55.92 set/3. \$18.64 ea Qty Ordered \_\_\_\_\_



NEW 9751494 Mugs Recessed ceramic. 18 oz \$33.48 set/6. \$5.58 ea Oty Ordered





NEW 9751488 Travel Tumblers Insulated acrylic with lid and straw. 20 oz ● 7½"H × 3¼"Opening \$43.14 set/6. \$7.19 ea Oty Ordered \_\_\_\_\_



**9749316** #4 Pot Covers
Melamine. Food safe. 4½"H × 5"Opening **\$18.00 set/12. \$1.50 ea Qty Ordered** 



Customer #:	
Store #:	Q *OTHING
Phone #:	Dunat
Contact Name:	CAKES

### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker – Ext. 2239 • Diana Fairbairn – Ext. 2397 Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.



NEW 3159-144 Picks Wood. Clip. 12"Tall ● 3"H × 3"W \$28.32 pk/24. \$1.18 ea Oty Ordered \_\_\_\_\_





NEW 3159-155 Mugs Embossed ceramic. 20 oz \$37.20 set/6. \$6.20 ea Qty Ordered \_\_\_\_\_



NEW TB3156 Tote Bags Polypropylene. 10¼"H × 8¾"W × 4¾"Gusset \$16.20 pk/12. \$1.35 ea Qty Ordered \_\_\_\_\_





NEW 9751477 #4 Pot Cover Asst. Hand-painted cut-out tin. PVC liners. 4¾"H × 5"Opening \$22.20 set/12. \$1.85 ea Qty Ordered \_\_\_\_



Customer #:	
Store #:	Q *OTH
Phone #:	SDUR
Contact Name:	CAK

### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker – Ext. 2239 • Diana Fairbairn – Ext. 2397 Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.



**9749737** Tote Bags Polypropylene. 14"H × 15"W × 6"Gusset **\$20.88 pk/12. \$1.74 ea Qty Ordered** 



NEW 9751879 Pick Asst.
Plastic and wood. 11" Tall ● 3½"H × 3½"W × 2"D
\$24.48 pk/24. \$1.02 ea
Oty Ordered \_\_\_\_\_\_



**9749443** Mug Asst. Ceramic. 13 oz \$50.16 set/12. \$4.18 ea Qty Ordered



Customer #:	
Store #:	Q *OTH
Phone #:	Dur
Contact Name:	CA K

### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker – Ext. 2239 • Diana Fairbairn – Ext. 2397 Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.



NEW 3163-144 Pick Asst.
Wood. Clip. 12" Tall ● 3¾"H × 2½"W ● 3¾"H × 2¾"W
\$28.32 pk/24. \$1.18 ea

Oty Ordered \_\_\_\_\_



NEW 9751677 #4 Pot Covers Hand-painted tin. PVC liners. 4¾"H × 4¾"Opening \$32.88 set/12. \$2.74 ea Qty Ordered \_\_\_\_\_



NEW 3163-313 Wine Tumblers Insulated stainless steel with acrylic lid. 12 oz • 4¼"H × 3"Opening \$45.52 set/4. \$11.38 ea Oty Ordered \_\_\_\_\_



NEW 3163-270
Travel Tumblers
Insulated acrylic with lid and straw.
20 oz • 7½"H × 3½"Opening
\$43.14 set/6. \$7.19 ea

Qty Ordered \_\_\_\_\_



NEW 9751808 Mugs
Hand-painted ceramic. 18 oz
\$40.38 set/6. \$6.73 ea
Oty Ordered \_\_\_\_\_

Customer #:	
Store #:	Q *OTH/
Phone #:	soun
Contact Name:	CAKE

### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker – Ext. 2239 • Diana Fairbairn – Ext. 2397 Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.



NEW 3157-144 Pick Asst. Wood. Clip. 12" Tall • 3½"H × 2¼"W • 3¾"H × 3"W \$28.32 pk/24. \$1.18 ea Oty Ordered \_\_\_\_\_





NEW 3157-00 Mugs Ceramic. 13 oz \$25.08 set/6. \$4.18 ea Oty Ordered



NEW 3157-38 Mugs
Hand-painted raised ceramic. 12 oz
\$46.56 set/6. \$7.76 ea

Oty Ordered





Customer #:	
Store #:	Q *OTH
Phone #:	DW
Contact Name:	CAR

### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker – Ext. 2239 • Diana Fairbairn – Ext. 2397 Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

# VALENTNE'S DAY

THESE VERSATILE CAKE PEDESTALS
TRANSFORM INTO A PLATE AND BOWL
PERFECT FOR SNACKS OR DIP.



NEW 9750939 Cake Pedestals

Melamine. Food safe. Some assembly required.  $4"H \times 11"$  Diameter

\$57.42 set/6. \$9.57 ea Qty Ordered \_\_\_\_





Melamine. Food safe. Some assembly required. 4"H × 11"Diameter

\$57.42 set/6. \$9.57 ea Qty Ordered





NEW 9751690 Plate Gift Sets

Melamine. Heavy paperboard. Food safe. 8" Wide

\$57.90 6 sets. \$9.65 set Qty Ordered \_\_\_\_\_



NEW 9751868 Trays
Marble. Food safe. 6¾" Wide
\$32.96 set/4. \$8.24 ea
Oty Ordered





# **9743698**Cake Pedestal Asst. Pressed raised glass.

Iridescent. 3"H × 7"Diameter 3½"H × 9"Diameter 3¾"H × 11"Diameter

\$43.08 set/3

Oty Ordered \_\_\_\_\_

burto	
+BURTO	N

Customer #: \_\_\_\_\_\_Store #: \_\_\_\_\_

Contact Name:

Phone #:

### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker – Ext. 2239 • Diana Fairbairn – Ext. 2397 Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

### NO HELIUM

Preinflated: Includes cup + stick

















24 4" PREINFLATED BALLOONS

NEW 12188 Valentine's Day + Love Asst. \$26.64 pk/24. \$1.11 ea Qty Ordered

















32 9" PREINFLATED BALLOONS

NEW 12190 Valentine's Day + Love Asst. \$53.12 pk/32. \$1.66 ea Qty Ordered \_\_\_\_\_

Assortments are subject to substitutions.



Customer #:	
Store #:	Q *OTH
Phone #:	DW
Contact Name:	CAL

### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker – Ext. 2239 • Diana Fairbairn – Ext. 2397 Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

# Plastic. 12" Tall 2½"H × 1½"Diameter

EASTER



9713218 Pick Asst.

\$20.16 pk/24 \$.84 ea **Qty Ordered** 

> **NEW 9751844** Picks Wood. Clip. 12" Tall 3"H × 3"W \$28.32 pk/24. \$1.18 ea

Qty Ordered \_\_



**NEW 3167-144** Pick Asst. Wood. Clip. 12" Tall 

\$28.32 pk/24. \$1.18 ea Qty Ordered \_



**NEW 9751656** Mugs Hand-painted raised ceramic. 16 oz \$43.38 set/6. \$7.23 ea Qty Ordered



**NEW 3167-38** Mug Asst. Hand-painted raised ceramic. Treat pocket. 16 oz \$50.22 set/6. \$8.37 ea Qty Ordered



**NEW 9751657** Mugs Hand-painted raised ceramic. 16 oz \$43.38 set/6. \$7.23 ea Qty Ordered \_\_



Customer #:	
Store #:	P TOTHING
Phone #:	bundt
Contact Name:	CAKES

### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker - Ext. 2239 • Diana Fairbairn - Ext. 2397 Nicole Waterfill - Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.



**NEW 3154-185** Basket Asst. Hand-painted wood. PVC liners. 12½" Tall • 4½"H × 5"Opening

\$36.63 set/9. \$4.07 ea Qty Ordered \_



**NEW 9751952** Bags Fabric. 8"H × 8"Opening \$71.76 set/8. \$8.97 ea Qty Ordered



Customer #:	
Store #:	Q *OTHING
Phone #:	Dunc
Contact Name:	CAKES

### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker - Ext. 2239 • Diana Fairbairn - Ext. 2397 Nicole Waterfill - Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

# NO HELIUM Preinflated: Includes cup + stick

















32 9" PREINFLATED BALLOONS

NEW 12199 Easter Asst. \$53.12 set/32. \$1.66 ea Qty Ordered \_\_\_\_\_



Preinflated
14"-49804-19
Includes cup and stick.
2.22

Order in multiples of 10.

Qty Ordered \_



Preinflated
14"–40212-19
Includes cup and stick.
2.22
Order in multiples of 10.

Qty Ordered \_



Preinflated
14"-41004-19
Includes cup and stick.
2.22

Order in multiples of 10.

Qty Ordered \_\_

Assortments are subject to substitutions.



Customer #:	
Store #:	Q NOTE
Phone #:	DW
Contact Name:	c <sub>41</sub>

### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker – Ext. 2239 • Diana Fairbairn – Ext. 2397 Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

# MOTHER'S DAY



**NEW 3168-144** Pick Asst. Wood. Clip. 12" Tall ● 3"H×3"W \$28.32 pk/24. \$1.18 ea Qty Ordered \_\_\_\_\_



NEW 3168-206 #4 Pot Covers Embossed tin. PVC liners. 434"H × 434"Opening \$34.80 set/12. \$2.90 ea Qty Ordered \_\_\_\_\_



9749410 Mugs Ceramic. 16 oz \$38.32 set/8. \$4.79 ea Qty Ordered



NEW TB3168 Totes Polypropylene. 10¼"H  $\times$  8¾"W  $\times$  4¾"Gusset \$17.40 set/12. \$1.45 ea Qty Ordered \_\_\_



**NEW 3154-144** Picks Wood. Clip. 12" Tall 3¼"H × 2¼"W \$28.32 pk/24. \$1.18 ea Qty Ordered \_\_\_\_\_



Raised ceramic. 13 oz \$40.44 set/12. \$3.37 ea Qty Ordered \_\_\_\_



NEW 3165-303 #4 Pot Covers Melamine. Food safe. 4½"H × 5"Opening \$18.00 set/12. \$1.50 ea Qty Ordered \_\_\_\_\_

®	
J	
ce®	

Customer #:	
itore #:	P
Phone #:	10

Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker - Ext. 2239 • Diana Fairbairn - Ext. 2397 Nicole Waterfill - Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

Pricing may fluctuate due to current market conditions and the prices shown are subject to change without prior notice.

NEW 3167-303 #4 Pot Covers

\$18.00 set/12. \$1.50 ea

Qty Ordered \_\_\_\_\_

Contact Name:

Melamine. Food safe. 4½"H × 5"Opening



9749798 Small Pinwheel Pick Asst. Plastic and wood. 11" Tall 3½"H × 3½"W × 2"D

\$24.00 pk/24. \$1.00 ea Qty Ordered \_\_\_











### **NEW 9751943** #4 Pot Cover Asst.

Hand-painted embossed tin and twine. PVC liners. 41/4"H × 43/4"Opening

\$31.60 set/10. \$3.16 ea Qty Ordered \_



### NEW 3153-270

Travel Tumblers

Insulated acrylic with lid and straw. 20 oz • 7½"H × 3¼"Opening

\$43.14 set/6. \$7.19 ea Qty Ordered \_\_\_\_\_



## NEW 3153-41

**Tote Bags** 

Polypropylene. 14"H × 15"W × 6"Gusset

\$20.88 set/12, \$1.74 ea Qty Ordered \_\_\_\_\_



Customer	r #:
Store #: _	
Phone #:	

Contact Name:

### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker - Ext. 2239 • Diana Fairbairn - Ext. 2397 Nicole Waterfill - Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.



NEW 3154-237 Trays Wood. Food safe. 15" Wide \$68.31 set/3. \$22.77 ea Qty Ordered



**NEW 3154-303** #4 Pot Covers Melamine. Food safe. 4½"H × 5"Opening \$18.00 set/12. \$1.50 ea

Qty Ordered \_\_



NEW 9751659 Mugs Ceramic. 18 oz \$28.74 set/6. \$4.79 ea Oty Ordered



NEW 9751772 Pick Asst. Layered wood. Clip. 12" Tall ● 21/4"H × 23/4"W \$28.32 pk/24. \$1.18 ea Oty Ordered \_\_\_\_\_



Travel Tumblers
Insulated acrylic with
lid and straw. 20 oz
7½"H × 3¼"Opening
\$43.14 set/6. \$7.19 ea

Oty Ordered \_\_\_\_\_







NEW 3154-310 Tea Towel Asst. Fabric. 13½"W × 22"L \$35.88 set/6. \$5.98 ea Qty Ordered \_\_\_\_\_



burton +BURTON
the TOTAL gift experience®

***************************************	
Customer #:	
Store #:	Q *OT
Phone #:	
Contact Name:	c <sub>A1</sub>

### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker – Ext. 2239 • Diana Fairbairn – Ext. 2397 Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.







NEW 3166-237 Trays Wood. Food safe. 15" Wide \$59.22 set/3. \$19.74 ea Qty Ordered



NEW 3166-310 Tea Towels Fabric. 13½"W × 22"L \$35.88 set/6. \$5.98 ea Qty Ordered \_\_\_\_\_









NEW 3166-157 Bowl Asst.

Wood. Nested. Food safe. 2¼"H × 7¼" Opening
3¼"H × 8½"Opening ● 3¼"H × 10"Opening
\$55.80 set/3

Qty Ordered \_\_\_\_\_\_



Customer #:	
Store #:	Q NOTH
Phone #:	Dur
Contact Name:	CAK

### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker – Ext. 2239 • Diana Fairbairn – Ext. 2397 Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

# MOTHER'S DAY + FATHER'S DAY



NEW 9751916 Mugs Recessed ceramic. 14 oz \$37.20 set/12. \$3.10 ea Qty Ordered



NEW 9751917 Mugs Recessed ceramic. 14 oz \$37.20 set/12. \$3.10 ea Qty Ordered \_\_\_\_\_



NEW 9751640 Mugs
Hand-painted recessed porcelain. 18 oz
\$39.48 set/6. \$6.58 ea
Oty Ordered \_\_\_\_\_



NEW 9751643 Mugs
Hand-painted recessed porcelain. 18 oz
\$39.48 set/6. \$6.58 ea
Oty Ordered



9749777 Mugs Ceramic. 13 oz \$25.08 set/6. \$4.18 ea Qty Ordered





NEW 9751919 Mugs Recessed ceramic. 14 oz \$37.20 set/12. \$3.10 ea Qty Ordered \_\_\_\_\_



burton +BURTON
the TOTAL gift experience*

Customer #:	
Store #:	Q *OTH
Phone #:	Dur
Contact Name:	CA K

Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker – Ext. 2239 • Diana Fairbairn – Ext. 2397 Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

### NO HELIUM

Preinflated: Includes cup + stick



















NEW 12197 Mother's Day \$26.64 set/24. \$1.11 ea Qty Ordered













32 9" PREINFLATED BALLOONS





Mother's Day \$53.12 set/32. \$1.66 ea Qty Ordered













32 14" PREINFLATED BALLOONS

NEW 12198 Mother's Day \$53.28 set/32. \$2.22 ea Qty Ordered

Assortments are subject to substitutions.



Customer #:	
Store #:	Q
Phone #:	(D
Contact Name:	

### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker – Ext. 2239 • Diana Fairbairn – Ext. 2397 Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

# GRADUATION

NEW 9751773 Mugs Hand-painted porcelain. 18 oz \$39.48 set/6. \$6.58 ea Oty Ordered \_\_\_\_\_





**NEW 9751840 Mugs** Ceramic. 13 oz.

\$25.08 set/6. \$4.18 ea Qty Ordered \_\_\_\_\_



**9749756** Mugs Ceramic. 16 oz **\$54.00** set/12. **\$4.50** ea **Qty** Ordered \_\_\_\_\_



**9749758** Mugs Ceramic. 16 oz **\$54.00** set/12. **\$4.50** ea **Qty** Ordered



9749742 Plush Asst. Fabric. Ribbon loop. 9" High \$56.40 set/8 \$7.05 ea Qty Ordered



Customer #: \_\_\_\_\_\_
Store #: \_\_\_\_\_
Phone #: \_\_\_\_\_\_
Contact Name:

## Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Courtney Barker – Ext. 2239 • Diana Fairbairn – Ext. 2397 Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.